SRAEFRETEHE

S A 4H 1R B S 58 3H 31F £T
(BEfr : )
# H THEE ATEE T HEE HE vz
I —MRIESRREERMOER
1. RO
(1) BRI
SHEE
E=RZRER 2, 270, 000 2, 250, 000 20, 000
<) —F2BaR 650, 000 650, 000 0
MRS BERESE 2, 580, 000 2, 650, 000 A 70,000
BhSETREE 380, 000 680, 000 A 300, 000
ZIaER 5, 880, 000 6, 230, 000 A 350, 000
BN
ZREEEIA 0 0 0
ZEEN4
& 1, 400, 000 1, 600, 000 A 200, 000
HE 28 ,
b A 0 0 0
BRI R E] 7, 280, 000 7, 830, 000 /A 550, 000
(2) REHE H
HEE
NEE 3, 966, 740 3, 218, 200 748, 540
Py 2, 940, 000 2, 233, 000 707, 000
mrEES 300, 000 400, 000 A 100, 000
L Bl 271, 740 215, 600 56, 140
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S G- 60, 000 60, 000 0
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